

Sayreville Special Services Department 2025 Summer IEP Work								
			Projected Hours & Cost					
Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST
Alberta	Jennifer	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Allen	Jamie	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Aurora	M. Grace	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Babst	Robert	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Beinert	Heather	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Bellina	Lauren	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Bergfeldt	Susannah	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Boehm	Kristen	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Boehringer	Lorraine	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Brew	Timothy	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Brooks	Rachel	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Bulla	Beth-Ann	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Buonpane	Lauren	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Caballero	Kari	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Carkeek	Kimberly	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Cerbone	Leeann	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Ciampa	Melissa	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Concurso	Lynn	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Coughlin	Courtney	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Critelli	Maria	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Csapo	Lisa	Certificated Teacher	0	6.5	0	6.5	\$60.00	\$390.00
Currie	Tara	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
DeSena	Michele	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Deutschmeister	Amy	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
DiStefano	Kerry	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Dragone	Rebecca	Certificated Teacher	0	1	0	1	\$60.00	\$60.00

Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST
Duda	Jeanna	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Esteban	Syra	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Feijo	Lauren	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Feliciano	Alfredo	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
ONiell-Fleschner	Kerry	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Fritz	Kristine	Certificated Teacher	0	5	0	5	\$60.00	\$300.00
Garnett	Alyssa	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Geison	Kulsum	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Gioia	Amy	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Giorgianni	Alexa	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Goldstein	Chelsea	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Grieco	Christa	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Hall	Eric	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Haney	Victoria	Certificated Teacher	0	9.5	0	9.5	\$60.00	\$570.00
Hoehman	Jordan	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Hornlein	Justin	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Hornlein	Laura	Certificated Teacher	0	4	0	4	\$60.00	\$240.00
Howard	Eddie	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Hunte	Nalla	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Archer	Ashleigh	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Ivy	Michelle	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Josiah	Shennet	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Kabara	Jennifer	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Karmazin	Taylor	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Kelly	Erin	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Kutcher	Amanda	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Lawlor	Christine	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Lawrence	Kelly	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Levy	Felicia	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Loch	Deanna	Certificated Teacher	0	3	0	3	\$60.00	\$180.00
Lorentz	Sherri	Certificated Teacher	0	0	0	0	\$60.00	\$0.00

Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST
McCabe	Christina	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Merrick	Michelle	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Mondano	Jennifer	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Moran	Hannah	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Morosco	Gineen	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
O'Donnell	Joseph	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Olesky	Kristin	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Palette	Melanie	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Parlagreco	Erin	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Pawelek	Lisa	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Pisaeno	Meredith	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Roman	Lauren	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
Romano	Kristina	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Schaub	Jessica	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Schorck	Robin	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Seavey	Rachel	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Smith	Jean Marie	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Soares	Katarzyna	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Szkodny	Jean	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Tier	Patricia	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
VanDoren	Lisa	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Vigilotti	Nadine	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
West	Colleen	Certificated Teacher	0	2	0	2	\$60.00	\$120.00
Whiteley	Kelly	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Wilkes	Amanda	Certificated Teacher	0	0	0	0	\$60.00	\$0.00
Zalnieratis	Lisa	Certificated Teacher	0	1	0	1	\$60.00	\$60.00
DiBernardo	Gina	LDTC	8	11	44	63	\$60.00	\$3,780.00
Grove	Meghan	LDTC	1.5	15.5	22	39	\$60.00	\$2,340.00
Hartnett	Kristin	LDTC	7	16	60.5	83.5	\$60.00	\$5,010.00
Horvat	Cvetelina	LDTC	7.5	8.5	27.5	43.5	\$60.00	\$2,610.00
Oleszkiewicz	Jessica	LDTC	3	15	44	62	\$60.00	\$3,720.00

## Attachment D-1

Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST
Gonzalez	Marisol	Occupational Therapist	0	17	49.5	66.5	\$60.00	\$3,990.00
Petrone	Kelly	Occupational Therapist	0	11.5	38.5	50	\$60.00	\$3,000.00
Tiberi	Debra	Occupational Therapist	0	0	0	0	\$60.00	\$0.00
Borrell-DeMaio	Lizabeth	Physical Therapist	0	3	11	14	\$60.00	\$840.00
Barone	Samantha	School Psychologist	11.5	10	27.5	49	\$60.00	\$2,940.00
Bauer	Rebecca	School Psychologist	9.5	15	60.5	85	\$60.00	\$5,100.00
Cohen	Jennifer	School Psychologist	30	30	38.5	98.5	\$60.00	\$5,910.00
Mendez-Sanchez	Evelyn	School Psychologist	3	21	60.5	84.5	\$60.00	\$5,070.00
Scheuttig	Julia	School Psychologist	6	17	66	89	\$60.00	\$5,340.00
Barreiro	Jennifer	School Social Worker	33	30.5	77	140.5	\$60.00	\$8,430.00
Fazzini	Jared	School Social Worker	10.5	14	27.5	52	\$60.00	\$3,120.00
Kong	Cecily	School Social Worker	5	2	11	18	\$60.00	\$1,080.00
Ploskonka	Liana	School Social Worker	25.5	22	44	91.5	\$60.00	\$5,490.00
Rivers	Jimeka	School Social Worker	9	8.5	33	50.5	\$60.00	\$3,030.00
Alfano	Christina	Speech Therapist	1.5	7.5	16.5	25.5	\$60.00	\$1,530.00
Chita	Tania	Speech Therapist	0	12	16.5	28.5	\$60.00	\$1,710.00
Dean	Bridget	Speech Therapist	0	2	16.5	18.5	\$60.00	\$1,110.00
Grascia	Anastasia	Speech Therapist	0	2	11	13	\$60.00	\$780.00
Santoro	Caitlin	Speech Therapist	0	11.5	27.5	39	\$60.00	\$2,340.00
Shah	Kashyapi	Speech Therapist	0	3	0	3	\$60.00	\$180.00
Shultz	Raiza	Speech Therapist	0	2	0	2	\$60.00	\$120.00
Vernon	Lauren	Speech Therapist	0	2	11	13	\$60.00	\$780.00
					<b>Totals</b>	<b>1378.5</b>		<b>\$82,710.00</b>